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An unlocked terminal is displaying the following:

Encryption complete, ENC(???,TOpS3cre7key) = Bot kmws mikferuigmzf rmfrxrwge abs perudsf! Nvm kda ut ab8bv_w4ue0_ab8v_DDU
You poke around and find this interesting file.
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import sys

num+alphal+alphaUl

(sys.argv)
print (sys.argv[0])
sys.exit()

key sys.argv[1]
if key.isalnum():
print

sys.exit()

plaintext sys.argv[2]

( (plaintext)):

rotate_amount keychars.index(key[1i CE2D)
if plaintext[i] in alphal:

enc_char ( ) ( (plaintext[i]) )+rotate_amount)%26
elif plaintext[i] in alphaU:

enc_char ( ) ( (plaintext[i]) )+rotate_amount)%26
elif plaintext[i] in num:

enc_char ( ) ( (plaintext[i]) )+rotate_amount)%10
else:

enc_char (plaintext[i])
ciphertext = ciphertext (enc_char)

print (plaintext, key, ciphertext)
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rotate_amount=keychars.index(key[i%len(key)]
enc_text[i]-C1 = (plaintext[ij+rotate_amount) mod C2 ( HFC1. C2H% %)
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rotate_amount=keychars.index(key[i%len(key)]
plaintext[i] =[(enc_text[i]-C1-rotate_amount) mod C2]+ C1 ( X C1. C2A# ¥
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